x1073 0.2 x1073

= 0.2 —~ ¥
] E : : Eili :
g F 5 o . F i 5
~0.15F t R F0.15F -2 1E E N R
S r :: : + L o r +
o C 44U JT o I AU E L S SN
v Ok kdlndE; [ v O il { 4
.05 it FEH FetteL ] 0.05F 1% L
oF HE JHE ofF---- 1 * ! )
-0.05F ~0.05f -+ TH e
-0.1F 0.0+ 5 3 R R E AR o EEREETTPPREPP
r F T
-0.15F —0.15f -+ E oA RS FRE CEOE RPPPPPRRRES

P O A 1l I A R

: HEb hdH .
+ o
HERRRESHES SO B A Bk SR R R EEREEEE
LT HITIT .
B (AR e A '

2 3
TPlpoT (PCA t%obeamlinélf)

|-1£ 3

-+

+

10 0? 10°
TP, (PCA t% beamllnef)
—a— DUV T OTTgIar .
—e— DQM~—TT—mod_m s4_truthfinal mode|TEST-15
—— DOM”TT—mo s4—truthallhits_model T-12
DOM~TT— s4—truthfinal _reg _mode|TEST-12
DOM s4—truthallhits_reg_modelTEST-11

! Gl
0] = SR TP TP ET P EPERPETPEPRE SEPE &  EERETSEPRTPRTPRRY = 8OF---eereeeeieeeeeeeees &  EECERERTPPPREE
A o A o

2 B0 21§ | S S I
S F o O F
v A0 v 40

|
8
T T[]

< > (Y
o p,/p, > (%)
O = N W N O
T

..........................................

£

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


